= A
N = 0] &F AF S & AN A
20228 = 20l A LEtSH 230l =
EX: S50z
HH: 230z M=
SRS EERED
4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
E3t0 = 26,867,493 19,320,752 7,546,741
= 2,054,390
g 2,800,000
Jl 655,172
= 4,390,110
Al 16,967,821
2slil=z &= 13,530,323 8,334,574 5,195,749
= 168,960
g 2,800,000
J| 451,822
& 1,439,524
Al 8,670,017
Z3|B 25 10,521,327 4,706,518 5,814,809
= 60,000
g 2,800,000
< 1,176,013
Al 6,485,314
HAANELES0 =2 29 391,335 420,533 N 29,198
101 e1214| 60,470 78,638 N 18,168
04 JI2ZtHIZ22NEE S 60,470 78,638 N 18,168
Ofls& 29old 53,313
e 73,280 x2H #2252 32,976
SasFLSE 73,280 x2H x61L 8,941
5294224 109,920 x23H »30! 6,596
JI2tHIZ22 X &2 2,400,000 x2H 4,800
Ol =49 &&d 22| 3,899
M= &Y 81,200& »4H x3L 33| 2,924
St ATH &Y 81,200& »3H 2 x23| 975
OZ2Z20sZ2NME HF 22| A Ex 02
& 217,200 *3%H x5! 3,258
201 LBt 9| 236,705 268,435 A31,730
01 AtR 22l b 142,175 143,905 1,730
Onlz2 2 53,535
E 2EH () 1,200,000 63| 7,200
S APAUHI(HAI=Hl, £9tH HIX)
30,0008 x 102 x4 3| 1,200
ANEES, 32 700,000 x12& 8,400
HEeSH| 650,000 33| 1,950
4| dX2 55,900& *30 12 2,013
HIG 2Xs 19,0003 *8CH x12& 1,824
= & | 8,000 x1H x5 x12& 480
AXE IXN U BA(SEHX E)
5,000 x200& 1,000
DisMAN HI 2S5 10,000 x8&5 x12& 960




2N 230z
M 2oos ds
& 230Ig 2= (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
A (2EN=, HESTHY) =€ 4,800
g el == 604,000& 128 7,248
JIEBA VRESY L BRHI(21E)
2,500,000& x33| 7,500
AEZ gGM MZEeIMHl 2503 %10,000% x23] 5,000
foFH =8 990,000& *43] 3,960
O&A2Y 76,200
Al 28 28 2 1,000, 000& 32l 3,000
HA IS A M 2 SX
2,400,000& »33| 7,200
EYHA HE EEZ 1,000, 000& *33l 3,000
HAES UL (ZILZ)
10,0003 2024 x40 23] 16,000
JIEESZ HRM 80,000& »100& 8,000
A SE I 50,000& 3023 x33| 4,500
ra =2 500, 000& *33] 1,500
S 4l 500,000& *33| 1,500
EEZ2 MBAMH(EE , =ZHE ZTAH S)
10,000, 000& *33l 30,000
SEIETA 2E A 1,500,000& 13! 1,500
OCunszZzyd 29 7,500
DENNH L 2LEE 72 500,000 x53 2,500
E2=S HAAUMH 1,000, 000& *52] 5,000
Oel2sr 4 & 4,000
ZA=E 200,000& =203l 4,000
OTAIHA E82A 940
2 A= 400,000& »23] 800
Sl 70,000& »23| 140
02 8322l 94,530 94,830 A 300
O3 & HA 49,870
LPGR S 1,750& %3,000kg*23] 10,500
&IOR3 1,500,000& »12& 18,000
& F (M= ) 1,600& *200L 320
aot=%, 2HY, 3RS
1,700,000& =128 20,400
st=gtEs2g 3 A3yl 300
Hdet=SE20lg Haldl 300
LHOLEE S A3l 50
O2EAE L HAIZE 282 9,900
L2EEAF BEEE 7,500
el 8ANEE B8R 800,000& x33] 2,400
OAlgE otd 2e| 19,660
A2LAE SEELEZY & ASJIs 3
700,000& »23] 1,400

-2 -




2N 230z
M 2oos ds
Sl 250l8 15 CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ZZolvaze 08 +ae
230,000& =2CH*12& 5,520
SAIIHE FHIIEMN =2 300
dojotdate| el =<2 320,000& «12E 3,840
HIIotE FHIIEA =22 600
=ZANE EL U =22
2,000,000& x43| 8,000
OA&EHl Sl 1,600
HIAE QYAHA &X 600
2t AME | 1,000
OARZ(MEA, HOE) BA HE 13,500
202 O4dl 1,200 ,200 0
01 = LH 4 1l 1,200 ,200 0
OANEZES0=2 g8 =8 1,200
206 = Hl 3,000 ,000 1,000
01 MHZ 4l 3,000 ,000 1,000
Ost= ZE 7Y 1,000
otlg, M=HM, =% & 1,000
O330&sE2RE XNE 22| Mg 7L 1,000
301 LeEAF 19,960 ,960 10,000
09 SALEHIX A S 6,000 ,000 0
O&AHAH BHz 2,000,000& x33| 6,000
12 JIEtEA S 13,960 ,960 10,000
O&AIA oH&EAF & XZ0l Adl 24 3,960
=2 22N 30,0003 x66 L x2H 3,960
AZINER S 243 10,000
401 AIEHIZL 20 30,000 ,000 A 28,000
01 A& HI 30,000 ,000 A 28,000
OEEHA HAIS2 HE 15,000, 000& *23| 30,000
405 TtobH SH| 40,000 ,300 37,700
01 HatL EZFH S 40,000 ,300 37,700
OFZFYHI 40,000
ESEsa 2el 226,893 ,836 93,057
101 124 dl 30,757 ,936 7,821
04 JIZHHZ2XREES 30,757 ,936 7,821
OE==2st2t Ad=22 21,509
2= 73,2803 x 1 #2252 16,488
sE25ds4 73,2803 x1H +612 4,471
e =] 109,920 »1H +5& 550
Os=asa H=xy 144,500%4H x4 x4 3| 9,248




M 2H0ED
dH: 20s s
Sl 250l8 15 CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
201 Bt A | 62,900 49,950 12,950
01 AP 2t 2l Yl 16,300 14,750 1,550
Oget=gH| 5,000
OseEzsa 222 HME 3,000
OBNILN IISHI(45HS Fa 4H5 S)
250,000& 34 750
O==2s2 RoldH 84 750,000& 42 0| 3,000
O XME Mz, A5 L JIES HE 2,000
ObH&E X otLHEF J HI 150,000% 1704 & 2,550
02 =329l 46,600 35,200 11,400
Os=2&a Bt 22| 6,600
SMAIA HEE 2A HH 700,000& =23 1,400
LS A= 300,000& 43| 1,200
== 92 34 500, 000& *x23| *2JH A~ 2,000
Al 3 UEE & HASHA(HAHA
X, 292 M=) 2,000,000%13] 2,000
O4n2 =4 5,000
03322 % MA 1,666,600& x12& 20,000
OE=2sa Mo|otd ey
250,000& x12& 3,000
Oot2 A 3| (50kg) & & 2,000,000%x10= %1/2 10,000
O2glgot %2l 2,000
202 O B 1,200 1,200 0
01 2L Y| 1,200 1,200 0
OH&XX As L HRFA 1,200
206 M= Hl 4,036 3,450 586
01 &2 bl 4,036 3,450 586
Ox&d+ g1 #¢ 4,500 * 100 450
Os%, 2UR =¥ Hz+ 1,000
OHEZ OrM3t ATH 500& *1,000%L E *33] 1,500
O&AlI& LED S ¢ 500
OAN&EE 221 H (68 1201) 2, 88 7¢ 586
=g 1,630& *2002| E1 326
48, €7 1,300& *2002] & 260
307 QI2t01 ™ 50,000 50,000 0
02 QI2ZtAAMAIE E =X 50,000 50,000 0
OHM123 =222 A 50,000
401 Al HI L2 THHI 73,000 5,000 68,000
01 Al &bl 73,000 5,000 68,000
O=s=sta 28 Ul A 53,000
Bi+=2 &X 100, 000& *250M 25,000




2N 230z
M 2oos ds
Sl 2308 25 SHol R )
= _ — d =
SA - BB B (BA) - MM - BHES Cee HREZ
Ol & 24
& 2U=R 04 S 15,000
EE2EH FIXT HEAHIA(150t)
6,500,000 »24! 13,000
OE=22s&2 MAA FHA (EE A, 00t
g) 20,000
g (=, &EI1S) 5,000
Y SM B (2F2Y) 5,000
ClectoH(Rt) &X 5,000
AYHTI €071 X (30+H) 5,000
405 RHoHF S HI 5,000 1,300 3,700
01 AL EZFH S 3,700 0 3,700
OARd d&dn 2¢ 700
O&AlA "ZHF O & A2 WX 3,000
02 = A=l 1,300 1,300 0
OHM118 2284 4% g
15,000& x50 750
OMEgE8 g2 &N ¢ 110,000 »5& 550
ZOLEHEH 22l 567,454 99,746 467,708
201 Let2d] 41,020 72,800 A 31,780
01 At 22l 10,920 18,400 AT7,480
Oget=&H| 3,000
ORoTtsEH 24 2,400
Osggsac 89 1,980
O3JI&#FD|, dHltl gx= 3,540
02 =224l 30,100 54,400 A 24,300
OZ232R2= 16,900
Os&Il FAE=+ 2,400
OLgAIE otd 2te| 3,600
OdJ|etE2te 29 7,200
202 Odl 1,600 0 1,600
01 = LH 4 bl 1,600 0 1,600
OHJ0tEHH &4t BXI0HY 22 0|
200,000& x2H *43| 1,600
206 T2 HI 1,000 1,000 0
01 24l 1,000 1,000 0
Ox&d=+ Hg, =% 8 #¢ 1,000
307 BI2t0| & 323,834 0 303,834
05 RIZteIE = 323,834 0 323,834
OLR0tEHH BItRIE 2el2F 323,834
401 Al HI L 2T 200,000 0 200,000
01 A& Hl 200,000 0 200,000
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M 250D
M 20z s
SRS EERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OALn2 =4 2,000
OodegEAZHI 300,000& x4= 2| 1,200
OXeldta3d FAEH 2,000,000& »23| 4,000
Odue) 34 & 24 250,000& +6CH 1,500
OA3Z RUAIE HI| SHHEHA
2,400,000& x13] 2,400
206 M= Hl 8,850 3,100 5,750
01 =8l 8,850 3,100 5,750
OXiglat 428 29 Mg P (E4oY &,
CIH2E, LEDAH ) 3,100
OA3F JIILH LI ¥ %5 77
2 50,000& 204 1,000
OA=% R0 FAANREY c0IE LD =8 F¢
950,000& +50H 4,750
405 XtAHE SHI 4,400 8,000 A 3,600
01 AL EFH S 4,400 8,000 A 3,600
OAL=% 2401012 (900HZ) 7 &
2,400,000 * 1K E 2,400
OYHE) 2Y(A3F (HIIa &L 2Z4)
2,000,000% *1CH 2,000
Gl oterd Al&z2tel 52,400 42,331 10,069
101 @124l 38,000 27,931 10,069
04 JI2ZtHZ22HEE = 38,000 27,931 10,069
Otz A& 2tel 38,000
2= 73,2803 x1H »247L 18,101
AN2H2IZ2 S 9,160& *1.5+3A1 2t+150 6,183
e =] 109,920& »1H «51 5,606
resgdsd 73,2803 x 1«67 4,910
JIZHH 22X & &3 3,200,000& x1H 3,200
201 ¢et24] 14,400 14,400 0
01 At 2t 2l 5,400 5,400 0
O e8| 3,000
ORo3H =4 200,000& =122 2,400
02 =224l 9,000 9,000 0
O3 & HA 6,000
&0, =5 23 500,000& »12& 6,000
OAE ZHI S X 3,000
TH=Es A 145,394 117,424 27,970
101 1244 dl 2,224 2,224 0
4 DIt Z2XREES 2,224 2,224 0
OZoe M2 o AAl2E (0 x)2te
138,980 & x2H x4 x23| 2,224
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25 230z
HH: 230z M=
SRS EERED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 37,630 27,640 9,990
01 AP 22| H| 22,540 13,140 9,400
OoRoAHE=24 2,880
=SHRAAIQITE Ol CHE 100,000& 12& 1,200
P == SN 140,000& ~12& 1,680
OZ0s M & =34 2| 1,500
O A2 0 &Al2 LB AY| 8,000
O&FLD| X 40,000& *2CH x12& 960
OENUs sg4A 500,000& x23| 1,000
OAML=ZTUHEAZ EESE MEY QMHI(==
TAH, CHUHEI S) 5,000
OZoUs, A2 EAIZ SFHE(EH13])
3,200,000*13] 3,200
02 Z2=2=24%4| 15,090 14,500 590
OF0UE 2222 < HMA 3,000
O ZUHEIAZ 2322 £ HA 2,500
OZ0ocfst JF0F JEAH| 1,700& *900kg*33| 4,590
O S A& &H KXYl 5,000
206 M Hl 5,400 5,400 0
01 X Z H| 5,400 5,400 0
Ouus =223 £ HE M=l
540,000 x53] 2,700
O™ EDI0F &2 1,350, 000& *23] 2,700
301 et A =2 58,640 65,560 N 6,920
12 JIEtE A= 58,640 58,560 80
OZHUsd dA=Y
60,0003 *3Al 2 *4H x =23 x32F 46,080
O LA 200,000 x1H x12& 2,400
OZUME 2ZAISE 120,000 x163| 1,920
OSSO0 A4 SE 150,000 »4H 2 %2 3| 2,400
O=Y , aAdli0r A= (29 & HE)
100,000 x4 X x53| 2,000
OSUAIS, HEIIOH 2442 (2 L AE)
120,000 »4H 2 x4 3| 3,840
401 Al HI L £ 0HHI 40,000 10,000 30,000
01 Al& H| 40,000 10,000 30,000
OEHUE = A8 Al S 10,000
OZ0UE A2 A BAB2 A=
30,000,000 13| 30,000
405 XHo&HF S HI 1,500 6,600 A5,100
01 AL 2 FF S| 1,500 6,600 A5,100
OLE=STY(YY L HE, YTZHES)
1,500,000 = 1CH 1,500




2H: 230
M 20z s
Sl 2308 25 CERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
AE Ol =2 B3AIE(BEX) 34,680 32,304 2,376
< 9,255
Al 25,425
307 gl2tol & 34,680 32,304 2,376
< 9,255
Al 25,425
02 It HAHE L 34,680 32,304 2,376
O=Xils& s SE€A 10,000
OAg il 23tALY 24,680
< 9,255
Al 15,425
stz FHXA 512,300 275,000 237,300
201 Let24d] 263,361 0 263,361
01 At 22/l 263,361 0 263,361
OR3l=Y 22012 XME(FOIEN A 200,091
OR3lmY 22022 HE (AR ol &
Ared) 63,270
ALY CHE DS #Hateldl Arg 2teld]
20,000, 000%3% 600
ALY CHEOIE2 g3t0eldl AP =0 &1l
20,000, 000%54% 10,800
LS HatAY 22l 10,000, 000*3% 300
Cgs HIAY &0 &I
10,000, 000+54% 5,400
=5 14,820
-= 338 0ISEaAIY 2eltl
15,000, 000*3% 450
-=2S3S 0ISH3AY F WAt
15,000, 000+54% 8,100
=S98 OIS EaAIY 22l
11,000, 000*3% 330
-=2S9= 0ISH3AY F WAt
11,000, 000+54% 5,940
StNE 25,650
-OlOI=Z2& ~ &t 2t HetArg 22l bl
15,000, 000*3% 450
-OlOI=Z2& ~ &td 2t HetArg W &It
] 15,000, 000%54% 8,100
A0S 38 HatAg 22l
30,000, 000*3% 900
-MA0tES 8 HatAtd & & 0tHd|
30,000, 000%54% 16,200
=3 HatAry 22l 10,000, 000*3% 300
D=Es ettty &0 &0
10,000, 000%54% 5,400
206 M= Hl 208,439 0 208,439




2H: 230
M 20z s
Sl 2308 25 (S &2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
01 M= 4l 208,439 0 208,439
ORswY SSU=ZXHE(FUEHAHAIY) 160,709
ORsrY SSU=ZZXHE(LA20E dHE
Arg) 47,730
ALY CHE OIS Setdeldl AtY
20,000, 000%43% 8,600
gs HatArg 10,000, 000%43% 4,300
== 11,180
=338 IS4YstAeY 15,000, 000%43% 6,450
=398 HEAY 11,000, 000%43% 4,730
[ mE= 19,350
-OlOI=Z2& ~ &t 2t HE A Y
15,000, 000%43% 6,450
-MAaltE |8 YstAtg  30,000,000%43% 12,900
=S HatArg 10,000, 000%43% 4,300
401 AIEHI L 2 CHYI 40,500 275,000 A 234,500
01 A& HI 40,500 275,000 A 234,500
Ognite 74 28 £ 40,500
23tz UWEKIT ¢ 8532 KNI (EX) 105,023 114,490 A9,467
& 36,758
Al 68,265
307 21201 & 105,023 114,490 A9,467
< 36,758
Al 68,265
02 HAHFHYANGEEX 105,023 114,490 N9, 467
Ode=Eslesssal XNFAY 105,023
= 36,758
Al 68,265
He Olz HSdH A8 (2EX)(HeAY) 1,700,000 1,300,000 400,000
=) 1,050,000
Al 650,000
401 Al HIZ 2018 1,700,000 1,300,000 400,000
=) 1,050,000
Al 650,000
01 A& HI 1,659,920 1,282,480 377,440
Odd0l=dSdE A &L S AUl 1,659,920
< 1,025,245
Al 634,675
02 Zeltl 32,400 13,200 19,200
Odd30l=0SFde A8 Zeltl 32,400
=) 20,012
Al 12,388
03 A& =2 THHI 7,680 4,320 3,360
Og&0=0sde A 7,680




25 230z
HH: 230z M=
Sl 2308 25 CERED
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 7,743
Al 2,937
28ts 22T M HE(BX) 5,600,000 2,050,000 3,550,000
Fag 2,500,000
Al 3,100,000
401 AlEHI 2L 2 0HY| 5,600,000 2,050,000 3,550,000
= 2,500,000
Al 3,100,000
01 Al&H| 5,216,465 1,992,718 3,223,747
O=&Ed B2 M2 HE ZA 5,216,465
Fag 2,328,779
Al 2,887,686
02 2elbl 370,462 55,000 315,462
O=Ed 22 M4& HE 370,462
= 165,385
Al 205,077
03 AlE 201 | 13,073 2,282 10,791
O=2&E8 2242 HE 13,073
Fag 5,836
Al 7,237
258 22T HD A (ME23MEH) 900,000 0 900,000
g 300,000
Al 600,000
401 AlEHIZ 2 0HY| 900,000 0 900,000
= 300,000
Al 600,000
01 Al& b 838,361 0 838,361
O=ed MERSHEH Xd ZA 838,361
Fag 279,454
Al 558,907
02 2teld| 59,538 0 59,538
O=&8 MERSIHE X4 59,538
= 19,846
Al 39,692
03 AlE 2 HH] 2,101 0 2,101
O=8d MER3lHE X4 2,101
= 700
Al 1,401
SR AIEES(EX) 80,000 0 80,000
= 80,000
401 Al HI L =2 Tl 80,000 0 80,000
= 80,000
01 Al&H| 80,000 0 80,000
FOEHOAM(EAIE E=FH|) 80,000
& 80,000
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01 Al& B 1,253,580 789,960 463,620
=R AAAN AR MESAME A=HYH| 52,000
= 36,400
= 7,800
Al 7,800
Ogd AMAL S - N &s4E HIIAHAS 20,000
= 14,000
& 3,000
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2N 230z
dM: FoM BEEES
tel: SEE3M BEEFH (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Odd |32l Sl D2z =38, W=
=k oy 70,000
= 49,000
< 10,500
Al 10,500
Odd K322 Feel I2F A2 A 30,000
= 21,000
< 4,500
Al 4,500
OXleldh 8ds B X2 10,000
= 7,000
= 1,500
Al 1,500
Og&d &JlelLEUR B+ X2 10,000
= 7,000
= 1,500
Al 1,500
02 2eltl 46,000 20,000 26,000
OE3S4 M2 #) &Edl 22l 84 16,000
= 11,200
< 2,400
Al 2,400
O3 &AM tFA Ax 22 EH 15,000
= 10,500
< 2,250
Al 2,250
OE&d R3c S D22 ZHl Zel 89 15,000
= 10,500
< 2,250
Al 2,250
03 AIE 2 0HHI 1,420 5,040 A 3,620
OLASHE A2 24 EHl
284,000,000& *0.5% 1,420
- 994
< 213
Al 213
402 RI2EX=20l A 644,000 440,000 204,000
= 450,800
< 96,600
Al 96,600
02 QIZEH2AIL B (01 TS ) 644,000 440,000 204,000
O3 d3aAN SXZXNBELEEY @ AXASE
o LI 2 II=Es, =222 228 A 245,000
= 171,500
< 36,750
Al 36,750
O3 Hd3aA Z2X0HIE M S 2N W
MY U a2da g 35,000
= 24,500
= 5,250

_36_




2N
X ZH -
L= B

el

30 MO0 HO
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i
x
>
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rm
40
T
xd
=
4o
>
0
o
ox
o

Off &t 24

=

M
2Hm
==
£l
Ol
0y

Al 5,250
OH& SEAMIA AX0gsed 32 s &
Al 50,000
35,000
7,500
7,500
284,000
198,800
42,600
42,600
OLd A&A AIZEA 30,000
21,000
4,500
4,500

= M W

©)
oc
10
1z
0z
>
fol
04
x
[pa
S

Z W

= Hn

2NE 23 2 SESSM E+FH N (L) 46,000 0 46,000

23,000
11,500
11,500

=z N W

401 AIEBIZ S CHYI 46,000 0 46,000
23,000
11,500
11,500

= W

01 A& HI 46,000 0 46,000
g2 SN D BN & 46,000
23,000

11,500
11,500

H

= MW

SXNE2sM BE+EH(BX) 1,586,000 1,510,000 76,000

793,000
793,000

=

401 AIEHIZ 2 I 1,586,000 1,510,000 76,000

793,000
Al 793,000

H

01 Al HI 1,537,888 1,504,178 33,710
OYASD HET FLZ HALS
612,000,000 *99. 4% 608,328

304,164
Al 304, 164
Ode gae D2z A=g 285,000
= 142,500
Al 142,500

2l

131,000

= 65,500
Al 65,500

O s 2l Xs=2=+ 47,000
23,500
Al 23,500

in
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2A: 250
g 2o EEds
Sl RSN 2ERY CERED
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
OSANMA A= & ALY, dx B 33,000
S 16,500
Al 16,500
Od A A5 & AHY B+, 0ISE &3 85,000
S 42,500
Al 42,500
OWAXIONE S=5LX, dUY2 2+ 100,000
£ 50,000
Al 50,000
OHlEdtd A2 A 20,000
S 10,000
Al 10,000
OXZoletd Y= A 200,000,000 +99.28% 198,560
= 99,280
Al 99,280
OHscl AX0cHe 2EXMC 30,000
= 15,000
Al 15,000
02 2feldl 43,000 0 43,000
Oddgn Hed L= 2+ 22lSS 28,000
= 14,000
Al 14,000
OEd g Nz AE=a ZesEY 15,000
= 7,500
Al 7,500
03 AlE 2 HHI 5,112 5,822 AT10
OLRASD AT VL HUSS
612,000,000& *0.6% 3,672
= 1,836
Al 1,836
OF=clity g=2 =AM 200,000,000& *0.72% 1,440
S 720
Al 720
2 Mord 2e|AE (EX) 25,500 25,500 0
Jl 17,850
= 2,295
Al 5,355
201 2Bt Yl 25,500 25,500 0
Jl 17,850
= 2,295
Al 5,355
02 524t 25,500 25,500 0
OadA & SN SWAIE =72 25,500
Il 17,850
S 2,295
Al 5,355
23 MHEXAE RH(EX) 265,000 30,000 235,000
Jl 185,500
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23,850
55,650

401 AIEHIZ 2 I

mn <
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23,850
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i
0y
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)
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t

Al
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= H

253,000

253,000
177,100
22,770
53,130
12,000
12,000
8,400
1,080
2,520

30,000

223,000

12,000

SXEM HHLTAE E(EX)

= M

180,000

90,000
90,000

180,000

401 AIEHIZ 2 I

= M

180,000

90,000
90,000

180,000

01 A& Hl

OU=A =88 =2

EN
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Al

= M
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100,000
50,000
50,000
80,000
40,000
40,000

180,000
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O
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0z
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H
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= W

116,000
58,000
29,000
29,000

109,600

6,400

[he}
e
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L
Mo
02
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Z W

116,000
58,000
29,000
29,000

109,600

6,400
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ol
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10
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116,000

12,336
6,168
3,084
3,084
4,220
2,110
1,055
1,055
7,172
3,586

109,600

6,400
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2N 230z
dM: FoM BEEES
¢e: RN 2T CEERED)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 1,793
Al 1,793
OZSAH STHAIAE S22 16,556
= 8,278
= 4,139
Al 4,139
OHMEAL HTHAIAE SR E 4 7,172
= 3,586
< 1,793
Al 1,793
OFE S YTAIAE XS4 6,008
= 3,004
= 1,502
Al 1,502
ONZES UTHAIAE ST E4 8,964
= 4,482
< 2,241
Al 2,241
OU=AL STHAIAE S22 8,964
= 4,482
< 2,241
Al 2,241
OL0IEY YMAIAE R E 4 7,172
= 3,586
< 1,793
Al 1,793
OASAL S THAIAE S E 4 6,432
= 3,216
= 1,608
Al 1,608
OSEA YTHAIAE R4 7,696
= 3,848
< 1,924
Al 1,924
O3 YTAIAE SAE4 7,172
= 3,586
< 1,793
Al 1,793
OESY YTAIAE RAES 8,964
= 4,482
< 2,241
Al 2,241
O AL S THAIAE S22 7,172
= 3,586
< 1,793
Al 1,793
HEAMNE HoAE XNIAMD(EX) 100,000 100,000
< 50,000
Al 50,000
402 RIZ2EXt20l ™ 100,000 100,000
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100,000 0 100,000
08 sEa &7 100,000
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= M

SHNE 2 LB HHIALE (EX) 4,500 0 4,500
3,150
675
675

=z N H

401 AIEBIZ 2 CHYI 4,500 0 4,500
3,150
675
675

=z N H

01 A& HI 4,500 0 4,500
Og¥ R3cly F&el 12 4,500
3,150

675
675

= Hn

2T LT FHIAIY (EX) 16,600 15,000 1,600
4,980
5,810
5,810

= N H

401 AIEHIZ 2 I 16,600 15,000 1,600
4,980

5,810
5,810

= N H

01 A& HI 16,600 15,000 1,600
O GA=ME 3,000
900

1,050
1,050
O S ES] 3,000
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1,050
1,050
Ogd &ial 122 3,800
1,140
1,330
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2H: 230
dM: FoM BEEES
¢e: RN 2T (SH9: &)
4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NAH =& 2= 176,750 199,550 A 22,800
201 £B-2d| 18,750 15,150 3,600
01 At 22l 15,150 11,550 3,600
OMAHEa R 2R 2 U2 =<
70,0003 »15H *32 3,150
OOt EZHAHASLUASEHZTTH AIR=2 LI
1,000,000& « 1204 & 12,000
02 =224l 3,600 3,600 0
OJMOILEZHAHASLUASEMZTEHT AIRZ B3R
(8,88 ,+=5) & HAI300,000& 1200 & 3,600
202 o4l 2,000 2,000 0
1T =2WHA 2,000 2,000 0
OJoFREZ NMASKMSH =& 0l
100,000& »10H »23| 2,000
308 XX EHH SOl A 156,000 176,000 A 20,000
07 HIXNHMAR2E = 156,000 176,000 20,000
OJOFREZ MARMSTH SSEES 156,000
HEII0AL 22 EA L HUIAM(EX) 400,000 500,000 A 100,000
< 200,000
Al 200,000
307 glz2tol & 20,000 50,000 A 30,000
< 10,000
Al 10,000
02 PIZtE M AHE X 20,000 50,000 A 30,000
OHSIIOIAL BT - 88 20,000
= 10,000
Al 10,000
401 AIEHI L 2 CHYI 380,000 450,000 A70,000
< 190,000
Al 190,000
01 A& HI 380,000 446,904 A 66,904
ooty ==X Al 300,000
< 150,000
Al 150,000
ooted 243tdl S At 80,000
< 40,000
Al 40,000
MR S ARXA(BX) 34,000 0 34,000
= 17,000
< 8,500
Al 8,500
308 XXM SO A 34,000 0 34,000
= 17,000
< 8,500
Al 8,500
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
07 IXNHMAR S = 34,000 0 34,000
OMAIs& BE=SS 22X 34,000
= 17,000
< 8,500
Al 8,500
JloF2at e e X0l 2H(EX) 24,000 24,000 0
< 12,000
Al 12,000
307 21201 A 24,000 24,000 0
< 12,000
Al 12,000
02 QB AANHEX 24,000 24,000 0
OJiot2str e X120l 2949 24,000
= 12,000
Al 12,000
SN2 SAHPIEH HEAMG(EX) 125,000 0 125,000
< 62,500
Al 62,500
401 Al HI K 201 I 125,000 0 125,000
= 62,500
Al 62,500
01 A& tI 125,000 0 125,000
OEXNEEISMN S4HBIE HAAS 125,000
= 62,500
Al 62,500
AR DAL X (EX) 4,000 4,000 0
= 2,800
Al 1,200
307 glz2tol & 4,000 4,000 0
= 2,800
Al 1,200
02 IZtE M AMHEE 4,000 4,000 0
OXHZaE IS AL X & 4,000
2 2,800
Al 1,200
g NE 23 ESAY(EX) 80,000 75,000 5,000
= 32,000
= 14,400
Al 33,600
307 21201 A 80,000 75,000 5,000
= 32,000
< 14,400
Al 33,600
02 It S AT EL 80,000 75,000 5,000
Ogn A3 M 2SAMS 80,000
= 32,000

_43_




2N
X ZH -
L= B

el

= ot

30 A0 MO
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

< 14,400
Al 33,600

HELA 23 ESASE(EX) 70,000 55,000 15,000
= 28,000
< 12,600
Al 29,400

307 glz2tol & 70,000 55,000 15,000
= 28,000
< 12,600
Al 29,400

02 It MAHE X 70,000 55,000 15,000
O SLAL 23T S ALY 70,000
= 28,000
< 12,600
Al 29,400

23 ord At (2 X) 395,000 300,000 95,000
= 158,000
< 71,100
Al 165,900

307 21201 A 395,000 300,000 95,000
= 158,000
< 71,100
Al 165,900

02 QIAHFAANGFEX 395,000 300,000 95,000
O=23M OFrH At 395,000
= 158,000
< 71,100
Al 165,900

DE B2 22 AMY(EX) 162,500 180,000 A 17,500
= 65,000
< 29,250
Al 68,250

307 gl2tol & 162,500 180,000 A 17,500
= 65,000
< 29,250
Al 68,250

02 IZtE S AHE L 162,500 180,000 A 17,500
O B3 &MY 162,500
= 65,000
< 29,250
Al 68,250

MM AIG(BX) 50,000 55,000 25,000
= 20,000
< 9,000
Al 21,000

307 glz2tol & 50,000 55,000 A5,000
= 20,000
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25 230z
HM: 2o BE&dS
¢e: RN 2T (SH9: &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
= 9,000
Al 21,000
02 QIZ2IA AAIE E X 50,000 55,000 A5,000
OMMESIH Al 50,000
= 20,000
= 9,000
Al 21,000
el 922|9 e NEFR g2 HAE(BEX) (M 1,450,000 550,000 900,000
SHALSE)
== 1,050,000
Al 400,000
401 AlEHIZL £ 0HY| 1,450,000 550,000 900,000
= 1,050,000
Al 400,000
01 Al&H| 1,423,784 550,000 873,784
H2 S22 FEe NEF =82 HEA
& 1,450,000,000& *98. 192% 1,423,784
& 1,031,016
Al 392,768
02 2eldl 18,850 0 18,850
OL® RT2ls F2o N2 =23 AYA
o 2Zel 29 1,450,000,000& *1.3% 18,850
& 13,650
Al 5,200
03 AlE 20| 7,366 0 7,366
Odd =222 e D2 282 HEA
& 1,450,000, 000 *0.508% 7,366
&< 5,334
Al 2,032
=Rl 22|29 S| DEF EEa HE 450,000 0 450,000
401 AlEHIZ £ 0HY| 450,000 0 450,000
01 Al&H| 450,000 0 450,000
OY® RIT2Is F2o 1T 222 AY <
Xl O 450,000
SLE23M 2sX& 351,300 161,300 190,000
= 112,000
& 51,680
Al 187,620
SHRASAEE=Z| ALY 5,600 5,600 0
307 2Iz2t0| & 5,600 5,600 0
02 QI AAIRE E X 5,600 5,600 0
OFs(EA) & _ G422 5 (D) Go! 5,600
HAzo M 45 AMY(EX) 12,000 12,000 0
& 4,800
Al 7,200
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2H: 230
dM: FoM BEEES
oelr SESHY 2SI (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 12,000 12,000 0
< 4,800
Al 7,200
12JEEd=S 12,000 12,000 0
Oddsa dsstn NE29 12,000
< 4,800
Al 7,200
LEISM M8 ¥ SHMEX) 103,700 103,700 0
< 41,480
Al 62,220
301 LEPEXF 103,700 103,700 0
< 41,480
Al 62,220
12 JIEE 43 103,700 103,700 0
OEXNZEFEEsM M=l 103,700
< 41,480
Al 62,220
M2 8435 N (EX) 30,000 0 30,000
= 12,000
< 5,400
Al 12,600
307 21201 A 30,000 0 30,000
= 12,000
< 5,400
Al 12,600
02 IZtE S AHE L 30,000 0 30,000
Oddsddrusa 84835 Ad 30,000
= 12,000
< 5,400
Al 12,600
NS RER ESXE MG (EX) 200,000 0 200,000
= 100,000
Al 100,000
307 glz2tol & 200,000 0 200,000
= 100,000
Al 100,000
02 It MAHEE 200,000 0 200,000
OXS KM ESXE 200,000
= 100,000
Al 100,000
HE2AAH 75,710 73,730 1,980
JlI2Zdl(23tuzn) 75,710 73,730 1,980
JlE2&l 75,710 73,730 1,980
201 Let24E] 42,680 41,060 1,620
01 At 22l 36,180 34,560 1,620
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